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Name:

Multiplication and division

HEEENHENENEEE0NEOD
N — SNNEUITEWE-BOEN BN —

32 x 200 =

240 + 20 =

5x70=

8 x 700 =

55 +3 =

200 x 60 =

720+ 9 =

700 x 800 =

27 x40 =

500 x 900 =

47 x 25 =

54 x 6 =

480 = 40 =

30 x70 =

81+6=

6 x 500 =

28 x 99 =

300 x 80 =

56 x 800 =

66 x 80 =

HEAEHEBEEANNEEEAEEEERBE N

Year 5 Assessment Exercise 15

40 x 90 =

240 + 6=

34 x 9 =

9 x 200 =

3x90 =

46 +7 =

36 x4 =

60 x 40 =

270+ 3 =

500 x 90 =

360 = 30 =

32 x50 =

92 x 50 =

560 + 80 =

400 x 300 =

420 +7 =

6 x 80 =

33 x29 =

83 x 300 =

23 x 8=

1-40
40 marks

d divide numbers mentally

Total: [l outof 40 Mastery

© HarperCollinsPublishers Ltd. 2015
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My target for next time is




Year 5 Assessment Exercise I}

Name: Date:

Multiplication and division

n Write the next six multiples for each of these numbers.

a) Multiples of 6:
67 r r r r r

b) Multiples of 7:
77 ' ’ ' r

c) Multiples of 25:
257 r ' r t r 1

3 marks

i3

Circle all the multiples of 9.
19 27 54 32 36 69 81 2

1 mark

Circle all the multiples of 8.
24 42 56 63 72 54 96 3

1 mark

Write all the factors of 48,

4
1 mark
Write all the factors of 64.
5
1 mark
Write the common factors for each pair of numbers.
a) 56 and 96
b) 32 and 48
¢) 72 and 36
6
3 marks

Total: [ out of 10
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On Sunday 23rd of April, thousands of people hit the streets of London to take part in the
annual London Marathon.

vislt twinkl.com @




wossuayarduidy paradiel — ¢ 1834 Pardosoyoyd ag 01 10N @
oo s Y LT T T E e i
OO e neans ettt
mJLBEN ...................................................... L R R N R R R I S e sEssEssE RN TR R R T A TR E]
)
-s@msue J4nofi uiejdxg
L 8uipeed deay] o} jusm nofi axew joelxe ey} jo ydeddeied yse) eyi pig
P LI

449Bxe 8y wi pauaddey sey yuiys nofi op feypn “toBIIXe BY}4 Of UCKONPOLUL BY} peaY

s

Lw9YiB|qEuoT Jp,, 184088} S YSIWEH awBU O} 8SOYD JOYINE 8y} yuiyy
nofi op fiym -nofi djay o} fissuoyalp B asp Lueew ,Jayye|q,, SS0p tEYM

EVTLOTY 4

Lsueaw ) yuyi nofi op jsym wodj apew (]] aulf) , palem-ipasaul,, Si SPIOM OMy YOIYM

v_hwE— D T R R L L L L i femadmradnrnan R T LT L E R I N ey —— '
‘Buiueddsy s 4eym aquosep o} sesn ysiuey jBy}
anyoalpe anpsod auo pue anyeFou auo umop apm
V‘LWE— L R I R R, aensan D P B CER R
{sS9lep Ut ede @ auy w ,ypes, pus  fisnouas, spiom ayy yuys nofi op fiym
L, e cereareeerreanaas et T, VO S
{1 Ul U1 SBWNSYBS jO 02iS 8y}, S8 paquasep safie s ysiwey ese Aym

£/

paydoooyoyd aq 01 30p &

"ooe[[ep, Auue(] Aq suaddoysplioq ayj puv yStupg WOl 9BNXD Uy

(‘sem UOISOID [10S JeyM MOUY A[[BOI UDAD ] UPIP Y )SOUO0Y
9q 0], 'JNOge POUIIDUOD Jey) [[& Sem Sy SulIstIos JOU SEM I “UOISOIS [I0S
moqe 1y3noy} Aj[ea1 193U PBY YSIWERH :J9B,) "UOISOID [10S Jn0qe Sunjury
ses oy o]doad 20urAu0d 0} Y3nous sem S1y} punoj oY SAWNIWOS IOMSUR G
ue s dn 9wod 03 Sulkn A[[ear sem oy oy1] ‘Inys s949 umoiq-Ausals o8ny
SIy pazaanbs pue SSIJA Y, PI[[ed wnu Iy Jiey 3or|q youy} 9y3 ySnory)
PueY SIY UBI OH 90®J Yulyj-au-j2]-40o [e12ads siy opew pue ased [1ouad
SIY 78 UMOP PaIe)s ey Ysiwel] ‘payse Uadq pey uonsanb ay) usypm
‘Areuiproenxd A[9Ijosqe sem IoYe[qSuo I Isea| 18 900dsaI sty) (T
u] “Jeudou ueyy Surioq Apxeinonted arow usad sFuuy Surioq Ajremonred
Fupjew 10§ Jusre) remonted e yim ‘soyoes) Sunioq Arejnonted ssoy)
Jo U0 sem JoyJe[q3u0TT I I INOQE SLU P[0} §,0UO0 OU UJY} UOISOID [10S
uey) JuLioq 10w JurgiAue s, 9101} JT ISNEOS] ‘90UO J& YUNS Pey SRSy
s ApoqA10Aa pue ‘pres p,ay ;UOISOID [I0S JNOGE SW [[9) UBD OYA,, ¢l
"uonsanb e (004§ SWINOGISUIM JO Hi SSE]D) ST 0} JNOGR SeM 9y USYM
PIp sAem[e oy Aeam o3 ‘sopponwy siy isnf Suisn ysop & 0juo presmio) Surues)
usq pey Joyre[q3uo JA A3ued ‘0Fe sjuswow Jo 1opeLl B snf
iPIoM-1pa.0UL Sem STy ],
"9[osnW S[3ULS B 9AOW 0] UDAD pausjysdiy 001 ()|
Sem of "3Up[nod oy yng -punore Joo pue dn 108 03 pajuem ysiuey
“FuIy) [NJI9PUOM SO 9[qLLIOY JSOUL JUBI|[LI] 1SOUI
‘[NJAe JSOUI )S3[002 ‘ISOLIRDS Y], “JueIsul ue ul pauaddey [[e pey 1]
Y143 U0 JeYM — AJSNOLIDS
(U0 U108 sem U1IeD U0 Jeypm g
"a8ueys oS sem Sy,
‘payLuad Apxepn ‘A[e1o) sea oy asnesaq [[is Ajo3e[dwoo jes oy puy
ALBYD SH ul s
Aje301dwoo 1es 9y Se SeWNS)eS JO ZIS Oy 219M $949 S, AqIS[[q YSIWe

Buraddey s1 aueuys fuan Fuiysewos jey; sesiead 9y uaym [00Yas Ul SI YSIWBH ‘JOBIXE Sy} U]
‘wiy 0} ydaoxa 'sdogs ppom ayt ul Fuiyhuane uaym sexy ay 1anajeym op ueo ay 4By} sasisad fiep
8uo oym 'ysiwey pa|jea fioq e ynoqe st 4| -eoejiem Auueq fiq s ssaddoyspriom ayy pus yspuey

s12ddojsp|10AA 943 pue ysiweH

woysuayaIdwoy papadie; — ¢ 1ea4

z/



—
Presents

Gurmit paid £21 for five presents.

For A and B he paid a total of £6.
For B and C he paid a total of £10.
For C and D he paid a total of £7.
For D and E he paid a total of £9.

How much did Gurmit pay for each present?

— B

Teaching objectives

57 Solve a given problem by organising information.
Explain methods and reasoning.

74 © Crown copyright 2000



Year 5, Unit 3, Week 1, Lesson |

Extension
Add numbers mentally
For each answer, write three different ~ Example —
calculations th’at you can work out 36 798 = /’ One pos‘sibl'e N\ P
mentally. Don't make them too easy! | calculationis )
' \ 56318+480. | ¥
a 23482 = + ] f“‘:"j >
T Another possi?le\\.
* | calculation s )
\ 33398 + 5400.
— e

b 32763 = + c 40155 = +

+ +

+ +
d 46 380 = + e 51506 = +

+ +

+ +
f 56871 = + g 63265= +

+ +

+ +
h 74 623 = + i 82349 = +

+ +

+ +

© HarperCollinsPublishers Ltd, 2014



Name:

Number and place value

a) 465736 = 400000 +

b) 1302581 :'

¢) 947562 =

Date:

a) 800000 + 50000 + 1000 + 600 + 90 + 2
b) 9000 + 1 + 300 + 80 + 30000 + 600000

¢) 20000 + 800 + 1 000000 + 30 + 500000 + 1000 =

+ 300000 + 2000 +

+ 40000 +

Year 5 Assessment Exercise |

+ 5000 + 700 + 30 +

Write the value of the bold digit in each of these numbers.

a) 278301

c) 647361

Write the value of the 6 in each of these numbers.

a) 574265

c) 628317

Use the < or > sign to make each statement correct.

a) 465173

465137

c) 1039471

Order the numbers, smallest to largest.

1039 570

+ 80 + 1
+ 500 + +2
b} 726982
d) 1387465
b) 1763182
b) 826316 826406
d) 1864 363 1846 363

a) 475289, 475283, 475298, 475238, 475279, 475287

r

b) 548154, 548182, 548281, 548812, 548128, 548218

d

U

r

r

¢) 1736281, 1726 281,

1736 821, 1

736182, 1736 218, 1735281

(}

r

@ read, write. order and compare numbers to at least :
1.000.000 and determine the value of.each digit’

= _To’tél:':-out of 20

Mastery: INREY

3 marks

3 marks

4 marks

3 marks

4 marks

3 marks

© HarperCollinsPublishers Ltd. 2015
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)
Spot the shapes 2

1. How many triangles
can you count?

2. How many squares
can you count?

3. Draw your own diagram to count triangles.
Don't use too many lines!
How many friangles can a friend find?
Can you find more?

 T— —

&

eaching objectives

Solve mathematical problems or puzzles. 58
Visualise 2-D shapes.

Explain methods and reasoning.

X

© Crown copyright 2000 ?5



Punctuation

Read the following definitions before punctuating the
sentences.

Full Stop
Marks the end of a complete sentence or statement, e.g. Ben
really likes chocolate cake.

Question Mark
Used at the end of a direct question, e.g. What is your favourite
colour?

Exclamation Mark
Indicates surprise, emphasis, strong emotion and sometimes
disbelief, e.g. That’s terrible!

Comma
Separates units of meaning in a sentence, e.g. I love playing bas-
ketball, tennis and badminton.

Semi-colon

Separates two main clauses that are closely related to each other,
but could stand on their own as sentences, e.g. Heather likes
oranges; James likes pears.

@ twinkl.co.uk



Punctuation

Colon
Comes after a complete sentence to introduce a list, quote or
definition, e.g. You should bring three things: flour, sugar and
water.

Dash

Separates elements within a sentence and indicates emphasis,
interruption, or an abrupt change of thought. Can act as brackets
or be used in place of the word ‘to’, e.q. Could you please try - try
your very hardest - to ignore him.

Ellipsis
Indicates that one or more words are missing, e.g. Indicates...
words are missing.

Brackets/Parentheses
Enclose additional related information, e.q. I left you some cake

(it’s in the fridge.)

Apostrophe
Indicates possession, or that letters have been left out, e.g. That’s
Jerry’s book.

Quotation/Inverted Commas
Indicates quotes, direct speech and slang or foreign phrases, e.g.
“I'm sorry, I simply don’t remember,” she said.

w twinkl.co.uk



Punctuation

Punctuate the following sentences:

1. where have you been all day

2. ill need two things a tent and a sleeping bag
3. i dont believe it

4. youre my friend my very best friend

5. how awful

6. please could you fetch me three apples two pears a peach and
a carton of orange juice

/. if you dont stop that immediately im going to

8. dont do that actually never mind

9. move along theres nothing to see the police officer said
10. thomas has five hundred pounds £500

11. come back thats benjamins bike she yelled

12. shenika cant stand fruit cake benny will eat it

W twinkl.co.uk
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Year b Assessment Exercise 6

Name: Date:

Addition, subtraction, multiplication and division

For Questions 1 to 4:

e Estimate the answer.

e Calculate the answer using the formal written method of long division.
* Give your answer as both a whole number and as a fraction.

® Check your answer.

784 = 23

4 marks

4 marks

Page 1 of 2

© HarperCollinsPublishers Ltd. 2015



Year 5 Assessment Exercise I6

Name: Date:

Multiplication and division

Work out the answer to each calculation using a written method.

918 + 8

2 marks
PY 4656
2
2 marks
E) 576227
3
2 marks
n There are 8 mangoes in a tray. Fabio the greengrocer has
150 mangoes to put into trays. How many full trays can Fabio fill?
4
2 marks
B Fabio receives a delivery of 385 eggs. He puts the eggs into
cartons of 6 to sell. How many cartons does Fabio fill?
5
2 marks

digit number using

f.ShGH't dtv; i d fnterpret
' sion an als T Mactary:
ely for the context o - Qut ofi 1k L Miastery: JLhly

© HarperCollinsPublishers Ltd. 2015
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Year 5, Unit 3, Week |, Lesson 2
' Extension

Name: Date:

Palindrome challenge

Add whole numbers with four digits using the formal written method

A palindrome is a number or word that can be read forwards or backwards
and is the same.

— ~ —_ Y

/ N/

Fi

N [ T337isa V[ wow'isa \

alindrome. alindrome.
p 4

e Write down a 4-digit number in the first set of boxes below.
e Reverse the number and write it in the second set of boxes.

* Add the two numbers together and write the answer.

HooE-aood-C

Is the answer a palindrome?

If not, on the back of this sheet, repeat using the answer as the start number,
until the answer is a palindrome.

Example
7 99 g/ 7926needed \
S, m— two reversals to
+16(2](9]|7 make a palindrome.
114121213
LIS S O N A P
3 | 212141
4 6 4 6 4

Investigate different 4-digit numbers. How many times do you need to
reverse and add them to make a palindrome? Use the back of this sheet
for your working out.

© HarperColiinsPublishers Ltd, 2014
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Ye_qr 5, Unit 2, Week |, Lesson |

* Extenslon
Name: Date:
Multiplying by 9, 99 using
10, 100 and adjusting
Multiply numbers mentally drawing upon known facts
Play this game with a partner. _
You will need:
* Cover each multiplication below with a counter. * 30 counters
¢ Take turns to:
— remove a counter
— say the answer to the multiplication. o
e If you are correct, keep the counter. Ya?a:wtn: N
If you are incorrect, place the counter axe utrns O remove
back on the board. a counter.
e Continue until all the counters have * The first player to say
been removed. the correct answer
keeps the counter.
e The player with the most counters P
at the end is the winner.
99 x 6 76 x 9 99 x 83 18 x9 91 x9
55 x 9 81 x9 46 x 99 99 x 52 63 x9
83x9 71 x9 27 x9 54 x 9 12 x9
99 x 12 45 x 9 86 x 9 108 x 9 9 x 47
99 x 9 64 %9 99 x 25 37 x99 72 x9
78 x9 99 x 7 36 x9 9 x 99 9 x 38

© HarperCollinsPublishers Ltd. 2014
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Ultimate Times Table Challenge

Name: Number Correct:

Time Table: Previous Score: {fﬁ:( ..:;J,:?_%/_ﬁ‘_“k@
1Tx1= Mx12= 10 x12 = 3x5= 1%x9= 7x1=
1x5= 1x2= 2x5= 4 x 1= 2x9-= 4 x5 =
3x1= 3x3= 9x12 = 3x7= 6x1= 3x1=
1x 4= 4 x 3 = 1x 3= Nx7= 4 x 9 = 3x09=
5x1= 8 x0-= 5x5= 8§x12-= 2x7= 5x1 =
10 x 3 = 6x3= 1x11= 2x11= Mx11= 1x7=
5x3= 9 x7= 7x5-= 7 %7 = 7%9= 10 x5 =
8x1= 10 x1= 5x7= 6 x5= 3x8= 8x11=
9 x1= 9x3-= 3x10 = 9x9-= 4 x 7 = 8x7=
M x9= 6x8= 6x11 = 10 x7-= 10 x 9 = 10 x 11 =
Mx1= 1M x3= MNx5= 2x3= 4 x11 = 8x5H=
12 x5 = 12 x12 = 5x 4= 12x7= 12x9 = 12x11=
2x1= 8§ x3= bxT7= 1%x12 = 1%x10 = 7x3=
2x2-= 9x 1= 2x6= 2x8= 2%12= 7%x6=
MNx4= 3x 4= 5x9= 12 x 2= 2 x4 = 1x6=
4 x 2= 4 x 4 = 4 x 6= 6x9 = 4 x 10 = 9x5=
Ex2-= 10 %x 2= 12x1= 5x 8= 3xb6= 7x11=
7x4= 6 x 4= 6x6= 12 x 3 = 6x2-= 8x 4=
7x2-= 9x2= 2x10 = 5x10 = 1% 8 = E5x6=
7%x8= 6 x10 = 12 x10 = 12 x 4 = 8 x10 = 8§x2-=
10 x 4 = 9x 4= 3x12= 9x8= 12x 8= 8x6-=
Mxé6= 9x6= 10 x 6= 3x2-= 4 x12 = 9x10 =
Mx2-= 6 x12= 5x12 = Mx8= M x10-= 8x 8=
7x12= 10 x 10 = 12 x 6 = 7 %10 = 4x 8= 10 x 8 =

——
|
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Four by four

You need some squared paper.

This 4 by 4 grid is divided into two identical parts.
Each part has the same area and the same shape.

Find five more ways of dividing the grid into two
identical parts by drawing along the lines of the grid.

Rotations and reflections do not count as different!

Explore ways of dividing a 4 by 4 grid into two parts
with equal areas but different shapes.

\\

Teaching objectives

5 Solve mathematical problems or puzzles.
Visualise 2-D shapes.

Find fractions of shapes.
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Punctuation

Complete this passage by adding commas where appropriate:

Tommy woke up early on the morning of the school trip packed
his bag twice as quickly as usual and ate breakfast really fast. He
ran all the way to school almost bumping into his best friend as
he reached the school gates. He had never been to the zoo before
and Mr Thompson had promised that there would be hippos tigers
snakes and more! Tommy's biggest wish was to see a lion though.
He knew lions had huge teeth big claws and a loud roar but he
wanted to see it for himself.

Complete this passage by adding apostrophes where
appropriate:

The tigers roar was so loud it could be heard all through the
jungle. “Do you think its coming this way?” Timmy whispered to
his sister.

“I dont think so,” she said uncertainly. Timmys heart was
pounding in his chest as they crept carefully through the bushes.
Then, out of nowhere, two tigers appeared! The tigers teeth looked
sharp, their claws deadly.

“Run!” shouted Timmy.

@ twinkl.co.uk
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( Three digits

Imagine you have 25 beads.
You have to make a three-digit humber on an abacus.
You must use all 25 beads for each number you make.

H -

) A
R Ol

oY —

How many different three-digit humbers can you make?
Write them in order.

J

Teaching objectives

Solve mathematical problems or puzzles. 60
Know what each digit represents.

Order a set of whole numbers.

© Crown copyright 2000 77



Year §, Unit 3, Week |, Lesson Y
Homework

Name: Date:

Adding and checking

e Add whole numbers with five digits using the formal written method
¢ Use rounding to check answers to calculations i

Write the digits from your challenge on the spinner. You will need:
e paper clip and

Challenge pencil - for
012,345 the spinner

Challenge

2,3,4,5,6,7
How to use the spinner
Challenge

(@ 4,567,8,9 Hold the paper clip
in the centre of the
spinner using the

.'

* Spin the spinner and write each digit you pencil, and gently flick
spin in the boxes below. the paper clip with
* When all the boxes are filled, add the your finger to

numbers together using the formal written make it spin.
method. Use the back of this sheet to show -
your working out.

* Round the numbers and add them
to check your answer.

e Do this three times.

1 Calculation [ N ] 1 1+ 1]

L ]
Rounding ] :J 1+ :I =

2 Calculation :li + ] =
Rounding : :I E + ] l: =

3 Calculation : :] |: +

Rounding _:]I:_+___|:_=

g\"’. Ask someone at home to use the spinner and make up two calculations,
Ask them to work them out, then check the answers.

| |
|
|

| |
| |
||
| |
| |
| |

|
||
||
|

|

{
|

||
| |
| |
| |

| |
| |
=

|
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Score:

Beat the Clock

Time:

»

*

My target for next time is

twinkl.co.uk




Year §, Unit 2, Week |, Lesson 4
Homework

Name: Date:

Multiplying and halving

e ———

 Multiply and divide numbers mentally drawing upon known facts
e Multiply and divide whole numbers by 10 and 100

a 280 b 360 c 170 d 460

Challenge
| Halve each number.

1 Answer these calculations. Use the multiply by 10 then divide by 2
strategy. Show your working.

a 14x5= b 46x5= c 84x5=

2 Answer these calculations. Use the multiply by 100 then divide by 2
strategy. Show your working.

a 24 x50 = b 62 x50= ¢ 43 x50=

Challenge
Find the answer to these calculations using the most appropriate strategy.
Show your working.

a 38x5= b 48 x 25 = c 27 x50=

Explain to someone at home the quick way of multiplying by 5, 50 and 25.
Ask them to work out two of the calculations using your quick methods on
the back of this sheet.

© HarperCollinsPublishers Ltd. 2014



Year 5 Assessment Exerclse 3

Name: Date:
Number and place value
°C=1 10 °C=1— 15 °C =110 C——1+ 20 C=1 10 C=—r5
o - T p 1 5
-4 k9 -1 =9 1L - ke 1
1 -8 JiF -8 AN,
- 8 4 F
k10 T’ 4 k15 .
=7 - -6 4 F ~ 6 -0
B ks 1t 1t 1T
R - =4 4k - 4
17 I’ - 10" y 10
4 - -2 4k -2 - -5
- o L, il 1L 1L
- =3 L ud 4L
—Fo0 - 0 5 -0
1F? : 1L I 10
1 g - -2 - L2 - -0
ko || AF-|| 102 0 11 1
- - -4 — -4
r ! - F-5 1F 1[
=~ I c gy} -6 ~ = -6 =15
-10 -5
-3 -7 « k
-8 -8
-4 -9
-5 -15 -10 -10 -10 -20
A B C D E F

Look at thermometers A to F above.
What is the temperature shown on each thermometer?

A: B: C:

D: E: F: 1

6 marks

Look at thermometers A to F above.
a) Which thermometer shows the coldest temperature?

b) Which thermometer shows the warmest temperature?

c) What is the difference in temperature between A and B?

d) What is the difference in temperature between D and E?

4 marks

Page 1 of 2
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Year 5 Assessment Exercise 3

Name: Date:

Number and place value

B Look at thermometers A to F,

a) The temperature reading on Thermometer E increases

by 5°C. What is the new temperature?

b) The temperature reading on Thermometer A decreases
by 2°C. What is the new temperature?

¢) The temperature reading on Thermometer D decreases
by 8°C. What is the new temperature?

d) The temperature reading on Thermometer C increases

by 7°C. What is the new temperature?

3
4 marks
n Fill in the missing numbers from each number sequence.
a) _51 _41 r—21 ¥ p1r l3r4
b) -12, ’ , =3, , ,6,9,12
C) 1 _111 ' —91 _81 ' ' —'51 _41 -3 4
3 marks
B a) Count back 10 steps of 1, starting from 4.
What number do you reach?
b) Count back 5 steps of 4, starting from 10,
What number do you reach?
¢) Count on 8 steps of 1, starting from 3.
What number do you reach? 5
3 marks

. [ht_gfgamtlﬁﬁggﬂve'-hum'hers'i'n c‘céﬁtext.."co'un( far\.-‘.'a'rdss;.J &_ED :
- and backwards with positive and negative wholeinumbers; f20 : 8 NYA
Wincliding through zero [ Page 2 of 2 N ize: tha]".'.- ouk Ray Majtens
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bOALthe rea

;Tvo!:(nnii:!.m‘tm%
calied Belinda who
is tassed by the ofhers for being cowardiy.

v

The Tale

v al

Belinda

tor there was

of Custard the IPragon

prrate, climbing m the winda,

fives with her four pets: 8

Nash, wha is known for his funny poems. 1t is about gir |

’ i nd a d . | S

kittan, .Ha :.._oc_..emn. 8 ...,on._”n_ —“ n”%.”.” _V_HE dragon _ ﬁu ) @ummarise how Custard the Dragon looks in the third verse.
but ane day, ho proves Ve.... - .

stard

@ ‘Why do you think Belinda calfa her kitten ‘Ink? -

]

you think the poet compares the dragon’s mouth 1o a fireplace in line 112

O L L L L e SR ot S e R T T e ey e e L E LI L LI LI :
- 1 nurk

-

Prstol in has lett hand, pistol uy his nght, s O AR Iy ol el
10 And he beld in his teeth 1 cutlass hright. o word ‘window’ differently in line 287
His beard was black, one leg was wood; i
It was clear that the purate meant no good. |
LT AT Eeaee T
=7 s 1 inerh

Belinda paled, and she cned. Help! Help!
But Mustard fled with a termified yelp,
ted dewn 1 th f the ho

us

2 C oy ! his pocket lagon,
He fired two bullets but they didn’t hit, il
And Cuslard gobbled him, every bit. =8

No one mour:icd ta
Ink and Bhnk i glee did gyrate

MOUsC,

-.:V:Mwl

And hee lintle y
And her nea




4 ) B )
Make five numbers

Take ten cards numbered O to 9.

CLRLEEEE

Each time use all ten cards.

Arrange the cards to make:

a. five nhumbers that are multiples of 3
b. five numbers that are multiples of 7
c. five prime numbers

| Make up more problems to use all ten cards
to make five special numbers.

— -

Teaching objectives

1 Solve mathematical problems or puzzles.
Know 3 and 7 times tables.
Recognise prime numbers.

78 © Crown copyright 2000
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Complete these sentences using the correct homophone. The first three have been done for you.

. "Look at the beautiful rainbow over there!” gasped Lydia.

The one with the white fence is their house.

Do you think they're hiding?

Put the book over on the shelf.

bus was running late.

The cold wind made teeth chatter.
Could they be in ?
Blue Smarties are the best, my favourites.
Ava and Lucas put hands up at the same time.
Are you sure not real?
. The new teacher got books in a muddle.
. Twent last summer too!
s a doctor anywhere near?

w twinkl.co.uk



Short Division Practice Worksheet

1. 2. 3.

2 8 517 Q13|99
4. 5. 6.

5 4 7 4 | 5 Q8|6 |7
7. 8. q.

5 5 3|17 7143|849
10. 1. 12.

8 9 1 3|4 1121298

Page 1of 3
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Add Fractions with Denominators That Are Multiples

Aim: I can add fractions with denominators that are multiples.

sl-

2 1
—_— — =
3 6

S|~

R |w

—
2 5
1 —+ — =
—_ — = 7 14
8 |
3 1
1+5_ — 4t — =
% 3 8 16
5 5
1 3 = + =2 =
-t == 16 8
2 8 -~
2 5
5+1_ —_—+ — =
6 12 9 18 |
m—
3 7
5 — 4+ — =
_— — = 10 20
12 oo

00000000¢C
)

w Page 1 of 3 visit twinkl.com
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Anglo-Saxon Kings

| can compare the significance of Anglo-Saxon kings during the Viking period.

Use your knowledge about King Alfred the Great and King Athelstan to answer the questions. You can
also use the Anglo Saxon Kings Information Sheet to help you.

1. What was the last remaining Anglo Saxon kingdom in AD 878?

2. When did King Alfred the Great become king?

3. What happened when the Vikings invaded Wessex in AD 8787

4. What happened at the Battle of Edington?

5. Who was Guthrum?

6. When did King Alfred agree a treaty to divide up land with the Vikings?

7. What was Danelaw?

8. When did Athelstan become king?

History | LKS2 | Vikings and Anglo-Saxons | Anglo-Saxon Kings | Lesson 2




Anglo-Saxon Kings

9. Which kingdom did King Athelstan take back from the Vikings?

10. Which Scottish king did Athelstan manage to control?

11. When was the Battle of Brunanburh?

12. How did Athelstan help to strengthen the British relationships overseas?

13. Who do you think was the greater king: Alfred the Great or Athelstan?

14. In what ways do you think the two kings are similar and in what ways are they different?

History | LKS2 | Vikings and Anglo-Saxons | Anglo-Saxon Kings | Lesson 2




- )
Maze

Start with zero.

Find a route from 'Start’ to 'End' that totals 100
exactly.

Which route has the highest total?
Which has the lowest total?

Now try some different starting numbers.

Teaching objectives

Solve mathematical problems or puzzles. 62
Add and subtract two-digit numbers mentally.

Multiply and divide by single-digit numbers.

© Crown copyright 2000 79



Year 5 Assessment Exercise Y

Name: Date:

Number and place value

Round each number to the nearest 10.

a) 747 > b) 746 726 >

¢) 4761 > d) 28 >

e) 61 > f) 37594 >

g) 307819 > h) 8478 >

i) 45875 > j) 533 > 1
10 marks

E Round each number to the nearest 100.

a) 751 - b) 637322 >

¢) 32567 2> d) 4725 2>

e) 289478 > f) 876 -

g) 5387 2> h) 45849 > ) 2
8 marks

B Round each number to the nearest 1000.

a) 21836 > b) 846361 >
¢} 7629 > d) 44194 >
e) 354608 > f) 5398 > 3

& marks

n Round each number to the nearest 10 000,
a) 365182 > b) 56 201 >

c) 13953 > d) 281098 = 4

4 marks

B Round each number to the nearest 100 000.

a) 285382 > b) 124987 - 5

2 marks

© HarperCollinsPublishers Ltd. 2015
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2. If the answer
is +0.2, what is
the question?






Name: l Date: ‘

10

Year 5 English Grammar and Punctuation Test 6 —
1. Which sentence uses a relative clause? Tick one.
T mark
The map that I brought with me is out of date. D
The map I bought yesterday is out of date. D
2. Circle the adverbial of number which links the sentences below to create cohesion. \
1 mark
My health has always been very good. Consequently, I have visited the doctors
in five years.
many times frequentlg onlg once
3. Add parenthesis to the sentence below.
1mark
Despite the excellent sailing conditions which were totally unexpected my
dad’s boat came last.
total for
this page

w twinkL.co.uk



Year 5 English Grammar and Punctuation Test 6

8. Look at the words which are used help to link sentences and paragraphs. Write each word once
to complete the sentence below. Remember to use correct punctuation.

1 mark
Learning to play an instrument can take time. [ ] you need to
decide which instrument to learn, } you will need to have
lessons from someone who can already play it. [ q will help
to ensure that you learn to play the instrument correctly.
this firstly then ]
Q. This sentence is ambiguous. Rewrite the sentence below using commas to make the meaning clear.
1mark
In the picnic box I put bananas crisps blackcurrant sandwiches and biscuits.
10. Tick the sentence which uses a semi-colon accurately. _
1 mark
I am a proud Yorkshire man; however, I love Northumberland too. D
I am a proud Yorkshire man however; I love Northumberland too. D
++END OF TEST#+
total for
this page
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Add Fractions with Denominators That Are Multiples

Aim: I can add fractions with denominators that are multiples.

Lnlw
+
|
I

[

)

=)

N
1+i=l 2,2
8 4 3 12

ey

| —

 EE—
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e
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"

—
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—
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13. 14.
1 117156
15. 16.
2 11713
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Beat the Clock

Score: Time:

X 9 7 4 8 12
10
= - —
12
6
1
3
11
9
4
7
5
2
8

My target for next time is

*
% twinkl.co.uk



Year §, Unit 2, Week |, Lesson 3
Homework

Name: Date:

Multiplying using multiples of 10

and adjusting

Multiply numbers mentally drawing upon known facts

Challenge
a 23x10= b 47 x10= c 62x10=

d 31 x10 = e 55 x 10 = f 76 x 10 =
Challenge
oy Multiply each number by 19. Example 23 x 19 = 23 x 20)-23
Multiply by 20 first, then adjust =460 -23
to find the answer, =437
a 14x19= b 25 x19=
c 46 x19 = d 37 x19 =

Chdllenge
Think of a way that multiplying by a multiple of 10 and adjusting might
help to work out the answers to these calculations. Show your working.

a 42 x 21 b 24 x 28

C 36 x 41 d 53 x29

Explain to someone at home the quick way of multiplying using
multiplying by a multiple of 10 and adjusting. Ask them to work out two
of the calculations using your quick method on the back of this sheet.

© HarperCollinsPublishers Ltd. 2014



Name:

Year 5 Assessment Exercise 5

— each of the 3 digits is separated by three digits.

- that involve al

@ solve number problems and pracical piablems

Date:
Number and place value l XVl
In a magic square the sum of each v XVl XX
column, row and diagonal is the
same — this is the magic number. Vil XXI
Complete these magic squares.
Write the missing numbers in , :
M
Roman numerals. What are the Mag|c- z;)glc. 1
magic numbers? Write them in number: numoer. ¥
Roman numerals.
Use the number line to count forwards and backwards to work out the
answers to these calculations involving negative numbers.
S B S e S o e e s e e s s
-0 -9 8 -7 6 -5 4 3 =2 -1 0 1 2 3 4 5
a)4-10= b)3-11= c) 8-15=
d) -2+7= e) -8+4= f) —2-4-= . rk2
Write three different 7-digit numbers that each round to 1 600 000 when
rounded to the nearest 100 000.
3
§ t 3 marks
Complete each number sequence.
a) 115542, 105 542, , , 75542, 65 542,
b) 50, 40, 30, , 10, I ) , —30, —40
c) 32,22,12, =8, ' ]
d) , 36 000, 26 000, , 6000, —4000, Y
e) 345, 245, 145, , —b5, \ ) 4
5 marks
2J[2J3) (3]
Arrange these digits to make a six-digit number where:
— each of the 1 digits is separated by one digit.
— each of the 2 digits is separated by two digits.
5

2 marks

A iA&E |
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Rcasning= Would you rather?

: Bank of ‘Would you rather?’ questions

2. If you collected shells,
.i%ff—“?f?;',"';;ﬁgoyld you rather be given
A j_-.:_.l '_Ig’“ ckc’rs con’rammg 109
R ashgl,;s in edch bucket or S

- con’rammg 3‘{3‘1
: s;l_ .....




52 B D e A S L R S N R R
The Mysterious Parcel =
Now write some comprehension questions about your diary eniry In the green . _...,
‘ By now, cﬂ..iiv—l...cl% of reading fexis and answering questions. Now H's time , i
Eincﬂzgi.:ﬁ*oﬁgi%.!iiagvi:ra friend. _

Imagine finding & mysteriot Bz&fcos.rx%r i*oh%ag?&bg.*cgqqiéﬂ .
¢ you open i, and what you find inside. Wa've made & start, but what happens next is up 4o o

¥
Dear Diary.

The strangest thing happenesd today. | came dowmstairs to find a mysterious parcel
waiting for me on the Ritchen table.




r' . . )
Jack's book

The pages of Jack's book are numbered from 1.

‘ The page numbers have a total of 555 digits.

How many pages has the book?

How many of the digits are a 5?

Teaching objectives

3 Solve mathematical problems or puzzles.
Know what each digit represents.

80 © Crown copyright 2000



Name:

‘ Date:

Year 5 English Grammar and Punctuation Test 5

1. Draw lines to match the verbs to the correct prefix. Use each prefix once only.

dis

-

over

appoint

re

visit

2. Circle the correct suffix to complete the sentence below.

You can’t qual

compensate

ate

ise

3. The sentence below is missing parenthesis. Add a pair of dashes so that the sentence is

punctuated correctly.

The fete or at least the outdoor part has been cancelled because of

the weather.

for the next award until you can swim 20 lengths.

10

total fer
this page
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Year 5 English Grammar and Punctuation Test §

4. Tick the adverb which shows that we will watch a film today.

1 mark

We will be able to see the film today.

probably ‘
definitely '
perhaps

5. Read the sentences below. Tick one box to show which sentence uses commas correctly.

1 mark

It’s unlikely, that we will be able to visit Gran Auntie Jane and
Tim all in one afternoon. )

It’s unlikely that we will be able to visit Gran, Auntie Jane and
Tim all in one afternoon. )

It’s unlikely that we will be able to visit Gran Auntie Jane, and
Tim all in one afternoon.

6. Circle the relative pronoun in this sentence.

That is the lady who taught me to swim.

total for
this page
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Year § English Grammar and Punctuation Test 5

7. Circle the appropriate time connective to create cohesion between the sentences below.

Every morning I follow the same routine. , I make a cup of tea and
watch TV for a while.

Then After that Firstly Next

8. Read the passage below. Tick one modal verb which would complete it.

I think it be best if we travelled to the airport on the train.
should

might

can

9. Tick two boxes to show where brackets should be used in the sentence below.

Miss Fitzwilliam at least I think that’s her name is going to be taking us for

Science next year.

total for
this page
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Year 5 English Grammar and Punctuation Test 5

10. Which grammatical device does the text below use? Tick one.

1 mark
{ R
To plant a sunflower
you will need:
«a pOt
« soil
« sunflower seeds
* water
. >y
sub-heading
table
L
bullet points
columns
**END OF TEST * =
total for
this page
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Add Fractions with Denominators That Are Multiples

Aim: I can add fractions with denominators that are multiples.

1 1 1 7 3
—+—+—=‘ —+—+— =
ey e
1 1 5 1 5 1
PRERETE PR
~— ~—
R )
1 5 1 5 1 7
—_t — + — = —_—t — + — =
4 8 2 6 2 12
. -~/
5 1 3 3 7
—t — + — = —t — + ==
6 12 2 8 4 8
R  EE—
1 1 1 2 7 2
w8 16 379737
-~/ |
e ——  EE—
11 5 1 4 9 3
—_t — 4+ — = —_t — 4+ — =
12 6 2 5 20 10
— —
R T
5 7 3 11 3 9
—_—t — + — = — =+ — =
8 16 20 5 10
| S —
f —
3 1 5 7 1 23
— =+ — = —_—t =+ —=
4 2 8 10 5 30
N S,
Y
3 1 5 11
—_— t+ — 4 — = —_—t — + — =
16 2 6 24 12
, T
5 23 11 2
—_t — + — = — —_ —_ =
16 8 8 24 12 3
PR SY,
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Year 5 Assessment Exercise 22

Name: Date:

Fractions (including decimals and percentages)

n Circle the smaller fraction in each pair.

2 4 a1 3 2 3
a) 3 5 b) 3 4 9 5 10
3 =L 2 3
d 7 3 e) 3 5 1
5 marks
a Circle the larger fraction in each pair.
4 5 5 2 5 3
a) g 9 b) % 3 9 3 4
a1 4 3 A
D 3 e) 7 12 2
5 marks
B Use the <, > or = sign to make each statement correct.
4 3 4 16 A 5
a) 37 7 b) 3 20 9 73 6
3 13 5 A
d 3 16 € 3 2 3
5 marks
n Order each set of fractions, smallest to largest.
7 3 10 4 2
A AT AT A AT A ' ' ' '
Z 3 1 3 1
b) 8 ] 4 t 2 ' 8 ' 4 ' ' [ '
3 2 1 7 3
C) 'IO ] 5 r 2 r 10 r 5 r r r r
2 5 1 4 1
d) 3 ' 6 ¥ 3 r 9 ] 6 T r ' r
12 3 7 5
e) 6 ' 3 T 4 ' 12 ' 6 t ' f ' 4
5 marks

@ compare and order. fractioris whose denamlnatars

‘all mulhp}es of the same. number Totaf*- out of 20 Mastery NYA |
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